27 Febrero 2013.gwb - 1/7 - 27 Feb 2013 08:38:49

d= __|| Meson = Yz
A= — — Hope S 19.6

.03s
2 L{él’ = kﬁ c[zé.z

dl‘ts ﬂ: Gt v q
A2 L (23438 s = o - 62

at? M7 03xgeys

m’s PI¥IV=o

= I\G ey o

S(#)= ¢ oS (;}S,e 56 ﬂ,Jv Q,Swu(ﬂﬁé%a




27 Febrero 2013.gwb - 2/7 - 27 Feb 2013 08:50:08

s(t)= (o8 ///%W) + (R N15.656¢)
Slo) = —9:5 SYo)= O

- S) =~ /1565 Wé/b'éﬂé) 7
£ /5, 654 G Jaj[l/{é&cé’)
fﬁﬂfﬁ?) M{)— -6,5 /(/‘;dag

— /1565 § oy (o) +115.65¢ C, g2 (o) =0

l\({’)-— 0. 5593///51{)] @

Sey= 57868 Sew (U550 ¢)

- 053 {05///g,é54_€) =5
4'95(//‘5,656{.') = 0

/19.65¢6 ¢ = 127_:
6_ 3,/4/¢
= -‘—‘—"_"—.—..

&'/IQ,éQGF:? volses s
= 532828 W{HS,L%wO-ODS?B
= 52.%2% %—CW(E)
N -

. I9R29 1

::D‘?' ?a?}éaé
a2, zop




27 Febrero 2013.gwb - 3/7 - 27 Feb 2013 09:03:35

GM __q  EDof)L ec M

@, /LJ

‘l/f: j ,l)/t)+23/1”)’é
M= 50 Cﬂ% BJ&H(,Q/«&)JHBCQQ
Hg=qe"7'i@&éem‘& 1=3e) 400
TP 2

ADO+rBN) . & = o
BKC)——
%j/é)_g J  B)= 3§
’/é%? $/éjt—§é+ca
Ae)=a (tde
(ﬂ = 4(@):% RN
Y .= Ar)+ Bl &
—(ﬂt’ +C\ j{-+<‘
:—g*-kgt + &ttt
Ef:"?__;;fa‘fcyﬁ"*e

Va2 m Yiye 59,300 (cog LI))

94

) =0 P9 2
’ N
L{:—j{‘~4 CL
_— -
kgéo)z—#(a[a)-laq:l— C‘l=2

g+ Gmborg o el

mgg,):_q.x bt + 2 /







L/Z__: _UB LT Yo 81+ 2

_Yg Lt He¥ltr2 = o

{ T bo.% ?’-‘-;//(m 89 ) — c/(.%f,? X2 ‘
(- 4.3 )fa

6‘(: 8§.5¢ <

‘éf- — O.ooy

e

X%q: (’[Q'?i(ffsf-)'f-’g 1355 .




vj
0;[_3 L/f)'ai Q,U:
5#\0"’_2’?% =& [/r)ifa){/ﬂl:ﬁnwaa):
M-2% = o F(1-4)

2y Q,_i 2,
L/ LE 4 (& acag/
6";.%(9 )

T B b S
cu

+
e &m/(‘al




%%

£
3€

5%

1€

iy
g cos (8x)

)




